13. Suppose that vecList is a vector container and vecList = {12, 16, 8, 23, 40, 6, 18, 9, 75} Show vecList after the following statement executes:

copy(vecList.begin() + 2, vecList.end(), vecList.begin());
It copies elements starting from the begining+2 and ending at end to begin, and the result is
{8, 23, 40, 6, 18, 9, 75, 9, 75}
14. Suppose that vecList is a vector container and vecList = {12, 16, 8, 23, 40, 6, 18, 9, 75} Show vecList after the following statement executes:

copy(vecList.rbegin() + 3, vecList.rend(), vecList.rbegin());
rbegin() means “reverse begin” and points to the LAST element

since it is reverse, the +3 moves it 3 towards the beginning which is the rend (reverse end) rather than end(). The destination of the copy starts at rend().
 Therefore the result is

{12, 16, 8, 12, 16, 8, 23, 40, 6}
